
9,$/(�7,=,$12�������������520$
7HO����������������)D[������������

3��,9$������������

&RPXQLFDWR�8IILFLDOH�Q�

��������

&2081,&$72�8)),&,$/(�1�������������520$�����������

,O�*LXGLFH�6SRUWLYR�5HJLRQDOH�GHOOD�)HGHUD]LRQH�,WDOLDQD�%DVHEDOO�6RIWEDOO���'XFFLR�0RVFKHOOD��QHOOD�VHGXWD�GHO������������KD

RPRORJDWR�OH�JDUH�GL�VHJXLWR�LQGLFDWH�HG�KD�DGRWWDWR�OH�GHOLEHUH�HG�L�SURYYHGLPHQWL�FKH�LQWHJUDOPHQWH�VL�ULSRUWDQR

8���6RIWEDOO�����

$��5LVXOWDWL�JDUH

7RVFDQD���5HJXODU�VHDVRQ���*LURQH�$ *LRUQDWD���

5LVXOWDWL�JDUH

���������� 6��56$$<��������� %6&�*5266(72����� 3,6$�72:(56 ������

/RUHWWD�0$00,1,

/D�VTXDGUD�RVSLWH�KD�JLRFDWR�LQ�GHURJD

%��&ODVVLILFKH

7RVFDQD���5HJXODU�VHDVRQ���*LURQH�$

&ODVVLILFKH 7HDP�/DEHO 3* 39 33 3$5 3(5��� *%

� %6&�*5266(72����� �� �� � � ����� �

� 3DGXOH�VHVWHVH �� � � � ���� �

� ),5(1=(�62)7%$//�$�6�'� �� � � � ���� ���

� 3,6$�72:(56 �� � �� � ���� ��

&��3URYYHGLPHQWL�GLVFLSOLQDUL

1HVVXQ�FRQWHQXWR

'��'HOLEHUH

1HVVXQ�FRQWHQXWR

,O�*LXGLFH�6SRUWLYR�5HJLRQDOH

'XFFLR�0RVFKHOOD

3DJ�������


